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QUESTION 1

A VMAXS system administrator needs to create a SRDF relationship for a planned data migration. Which replication
mode of SRDF is recommended for the initial bulk data transfer?

A. Adaptive Copy Disk

B. Synchronous

C. Asynchronous

D. Adaptive Copy Write Pending

Correct Answer: A

SRDF/Synchronous (SRDF/S), SRDF/Asynchronous (SRDF/A), and SRDF Adaptive Copy are the basic operation
modes of SRDF. The first two are valid for Oracle database protection and maintain dependent write-order consistency.

The third is useful for bulk data transfers or in combination with more complex SRDF solutions such as
SRDF/Automated Replication (SRDF/AR)

QUESTION 2

A data center has experienced a disaster. The current state of SRDF is failed over. The storage administrator wants to
begin transfer of the invalid tracks from the R2s to the R1s while production work continues on the R2s. Which SRDF
operation should be used?

A. Update

B. Failover

C. Failback

D. Restore

Correct Answer: A

QUESTION 3

A VMAXS3 storage administrator wants to perform a SRDF data validation test on R2 without impacting production host
processing. Which SRDF operation should be used?

A. Split

B. Failover
C. Swap

D. Suspend

Correct Answer: A
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QUESTION 4

You are attempting to install Unisphere for VMAX 8.0 on a server with the following configuration: Microsoft Windows
Server 2008 64-bit Dual core processor 8 GB RAM 180 GB free space

The installation is unable to continue because a pre-requisite has not been met. What is the likely cause of the error?
A. 12 GB of RAM is required

B. 32-bit operating system is required

C. 240 GB of free space is required

D. Quad core processor is required

Correct Answer: A

QUESTION 5

A storage administrator has set the 1/0O limit on a VMAX3 Storage Group to 1000 I0/Sec. The 1/O distribution has been
set to the default mode. One of the directors in the associated two-director Port Group has failed. What will the 1/O limit
be on the director that is still online?

A. 500 IO/Sec

B. 750 10/Sec

C. 1000 I0/sec

D. 2000 I0/Sec

Correct Answer: A
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